(1]

B.A. 67 Semester (Honours) Examination, 2020 (CBCS)
Subject: History
Paper: DSE-III

History of Modern East Asia I (1840-1919)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
alawq TE FeIrefT YT [eEE |
AN IYTE [eers Oz eF 70 T/
1. Answer any Six of the following questions: 5x6=30
N T P17 AT 2TAT TG Whas
a) What were the main features of the Canton system of Trade?
B qlferey aiE A el B e
b) Why is the Treaty of Nanking regarded as a landmark in the History of China?
Tfee e ST Bfsaier «fs gorfersd &= J=1 272
c) Why did the Taiping rebillion fail?
wizfere fwmre g zfes @
d) Discuss the nature of the Boxer uprising .
T AP ePfo e Fear
e) Analyse the role of Dr.Sun-wat Sen as a nationalist leader of China.
Bt ereiTeRi (ol RT3 ©, AF-23® (-9 Nl [Rearad Sl
f) How do you account for the fall of the Shogunate in the History of Japan.
ST ORI (Hlle @i oCT TRl SEhl Tl
g) The Meji Restroration marked a sharp break with the past. Do you agree?
T o goTe @ (& @OSIE weited Ak TS FE (7R FeAfRe?
h) Was the Sino-Japanese war of 1894-95 inevitable?
Sr58-5¢ A S-Sl T& & wfeard fezt?
2. Answer any three of the following questions: 10x3=30
NA T P o5 dvaw Tew whes
a) Analyse the various aspects of the Tribute system in China.
B e @9e iR tafRrefe e v



b)

c)

d)

e)
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How far did John Hay’s Open Door note of 1899 reflect the American commercial
interests in China?

Shrdd A & (21 (AT wen e FHCH V& #q wiewfsers AAfifess 714 w6l
effsfere Fafee?

Describe the Salient features of the Japanese Constitution of 1889.

Shbd I A AT ey (Eyafer wieasar e

Trace the background of the Anglo-Japanese Alliance of 1902.

50X HITEH TH-GIH (Nl Ffed ABYN ST Tl

Discuss the causes of the Russo-Japanes war (1904-05).

= S J0@d (3508-0¢) FRAGHET ST FCAT |
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B.A. 67 Semester (Honours) Examination, 2020 (CBCS)
Subject: History
Paper: DSE-III (OR)
History of the USSR-I (1917-1945)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
alwq TE FeIrefT YA [eEE |
AT JATET [rers ST TGq 70 3T 1

1. Answer any Six of the following questions: 5x6=30
N (7 (P17 BT ATAT T Whes

a) What do you understand by the Agrarian Crisis? What was its role in the collapse
of Tsarism?
I 76 FeIce P T @[ wiReEs o 3 & i few?

b) Who were the Bolsheviks? Account for their success in the October Revolution
(1917)?
ST FIE? ABIRT [T (5939) OIHF ATCENF FIE (FIS|

c) Discuss the relationship between the peasantry and those of the Whites and the
Reds during the Civil War.
R Yo AT FIFWE AN CFS '8 &+ W IS QDA 5|

d) Explain the features of War Communism. Why was this policy abandoned?
T& AW &2l g 391 @3 [ifs @ cAfrere 2wz

e) What do you mean by NEP? Why did Lenin introduce it in Russia?
NEP F&ce gf & @Ri? @@ & «ft dif e exeq @

f) Why was policy of collectivization of agriculture introduced in Russia? Discuss its
impact on the peasantry.

AR Flce AeoReTad Aife (@4 e 77 ? FIPE TAF 9T O SCD F9|
g) How did Joseph Stalin Rise to power in Soviet Union?

(ST I FO CTOETS TS FAOR GUARCT?
h) Write a short note on Rapallo Treaty (1922).

Rapallo & (3522) RAW @36 e Bt 14|
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2. Answer any three of the following questions: 10x3=30

N 7 1T 717 eraw Tag wss

a)

b)

c)

d)

e)

Discuss the major causes of the Bolshevik Revolution in Russia.

Aiferar weeifes Rete aqm FRetef arEs <9

Analyse the foreign policy of Lenin.

cIfeieR el Sifs fResiae =

Analyse the causes of Trotsky’s failure in Russian politics.

AR ArEifore Go%FT JLOE FIa A T |

Write an essay on Planned Industrialization in Russia during 1928-1941 CE.

SO-d58Y AR AT “fsslgre Mg 7o uft a3w @)

Under what circumstances was the Soviet-German Non-Aggression Pact of 1939

signed? What was its significance?
@I ~AfERerS So05 A FlfeREe-GINT W@ Ffe FrFe 212 e ey 6
feet?



